

ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			CMQS545 1-Pack		
cqs 1	1	QSCE8CP17	17" Mesh Jumper	\$ 120.00	\$120.00
2	1	QSCE8FR1	72" Long, Reversible Floor Power Entry, Front Fed, 72" Long, Floor Power Entry, Side Fed, Snaps into Side of Power Distribution Housing	\$ 347.00	\$347.00
3	1	QSCE8RD1	Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$33.00
4	1	QSCE8RDA	Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$33.00
5	2	QSCHC15L	15" Left Cantilever, Mounting Bracket Included	\$ 50.00	\$100.00
6	2	QSCHC15R	Skipped Option 15" Right Cantilever, Mounting Bracket Included	\$ 50.00	\$100.00
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
7	1	QSCHCB2	Corner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$22.00
			Skipped Option		
8	2	QSCHFB1	Flat Bracket (Available in Black Only)	\$ 21.00	\$42.00
9	4	QSCHP54-2	54"h, 2-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 142.00	\$568.00
			Skipped Option		
10	2	QSCMET54	54"h, End of Run Trim Insert for Panel	\$ 25.00	\$50.00
			Skipped Option		
11	2	QSCMFM5424N0	54"h x 24"w, Monolithic Fabric Panel, Non-Powered, Race way Cover No Punch (2)	['] \$ 381.00	\$762.00
			Skipped Option		
			O1 Grade 1 Textiles - Outside Position 1		
			 Skipped Option01 Grade 1 Textiles - Inside Position 1		
			Skipped Option		
12	4	QSCMFM5436N0	54"h x 36"w, Monolithic Fabric Panel, Non-Powered, Race way Cover No Punch (2)	\$ 480.00	\$1,920.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
			01 Grade 1 Textiles - Outside Position 1		
			Skipped Option		
			01 Grade 1 Textiles - Inside Position 1		
			Skipped Option		
13	1	QSCMFM5436P1	54"h x 36"w, Monolithic Fabric Panel, Power Harness, Raceway Cover No Punch, Raceway Cover with Punch	\$ 696.00	\$696.00
			Skipped Option		
			01 Grade 1 Textiles - Outside Position 1		
			Skipped Option		
			01 Grade 1 Textiles - Inside Position 1		
			Skipped Option		
14	1	QSCMFM5460P1	54"h x 60"w, Monolithic Fabric Panel, Power Harness, Raceway Cover No Punch, Raceway Cover with Punch	\$ 902.00	\$902.00
			 Skipped Option 01 Grade 1 Textiles - Outside Position 1 Skipped Option 01 Grade 1 Textiles - Inside Position 1 		
			Skipped Option		
15	3	QSCMRCB01	Cutout Cover for Raceway Cutout Opening	\$ 17.00	\$51.00
			Skipped Option		
16	1	QSCS1923BBF	23" d, B/B/F Pedestal, Worksurface Supporting	\$ 565.00	\$565.00
			Skipped Option WSTD Key Random (STD)		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
17	1	QSCS1923FF	23" d, F/F Pedestal, Worksurface Supporting	\$ 565.00	\$565.00
			Skipped Option		
			WSTD Key Random (STD)		
18	1	QSCWCC3624P	36"w x 24"d, Curved Corner Worksurface with 3mm PVC Edge Trim 1" Thick	\$ 511.00	\$511.00
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option Skipped Option		
			Skipped Option Skipped Option		
19	1	QSCWS2436P	36"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 1 Scoop	\$ 167.00	\$167.00
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option		
			Skipped Option Skipped Option		
			Skipped Option		
20	1	QSCWS2460P	60"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops	\$ 339.00	\$339.00
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option		
			Skipped Option		
			Skipped Option		



ITEM QTY. PRODUCT CODE LIST EXTENDED

ALIAS SUBTOTAL: \$ 7,893.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			CMQS545 2-Pack		
cqs 21	1	QSCE8CP17	17" Mesh Jumper	\$ 120.00	\$120.00
22	1	QSCE8FR1	72" Long, Reversible Floor Power Entry, Front Fed, 72" Long, Floor Power Entry, Side Fed, Snaps into Side of Power Distribution Housing	\$ 347.00	\$347.00
23	1	QSCE8RD1	Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$33.00
24	1	QSCE8RD2	Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$33.00
25	1	QSCE8RDA	Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$33.00
26	1	QSCE8RDB	Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$33.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
27	4	QSCHC15L	15" Left Cantilever, Mounting Bracket Included	\$ 50.00	\$200.00
			Skipped Option		
28	4	QSCHC15R	15" Right Cantilever, Mounting Bracket Included	\$ 50.00	\$200.00
			Skipped Option		
00	_	00011000	Corner Bracket, Left and Right, Sold as a Pair	* 00 00	* 00.00
29	1	QSCHCB2	9	\$ 22.00	\$22.00
			Skipped Option		
30	4	QSCHFB1	Flat Bracket (Available in Black Only)	\$ 21.00	\$84.00
31	4	QSCHP54-2	54"h, 2-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 142.00	\$568.00
			Skinned Option		
			Skipped Option 54"h, 3-Way, Universal Corner Post (With All Clips), Post		
32	2	QSCHP54-3	Trims, Post Base Cap	\$ 126.00	\$252.00
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
33	4	QSCMET54	54"h, End of Run Trim Insert for Panel	\$ 25.00	\$100.00
			Skipped Option		
34	4	QSCMFM5424N0	54"h x 24"w, Monolithic Fabric Panel, Non-Powered, Race way Cover No Punch (2)	\$ 381.00	\$1,524.00
			Skipped Option		
			01 Grade 1 Textiles - Outside Position 1		
			Skipped Option		
			O1 Grade 1 Textiles - Inside Position 1		
			Skipped Option		
35	8	QSCMFM5436N0	54"h x 36"w, Monolithic Fabric Panel, Non-Powered, Race way Cover No Punch (2)	\$ 480.00	\$3,840.00
			Skipped Option		
			01 Grade 1 Textiles - Outside Position 1		
			Skipped Option		
			01 Grade 1 Textiles - Inside Position 1		
			Skipped Option		
	_		54"h x 36"w, Monolithic Fabric Panel, Power Harness,		
36	1	QSCMFM5436P2	Raceway Cover With Punch (2)	\$ 696.00	\$696.00
			Oliver d Outin		
			Skipped OptionGrade 1 Textiles - Outside Position 1		
			Skipped Option		
			01 Grade 1 Textiles - Inside Position 1		
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
37	1	QSCMFM5460P2	54"h x 60"w, Monolithic Fabric Panel, Power Harness, Raceway Cover With Punch (2)	\$ 902.00	\$902.00
			 Skipped Option Grade 1 Textiles - Outside Position 1 Skipped Option Grade 1 Textiles - Inside Position 1 Skipped Option 		
38	7	QSCMRCB01	Cutout Cover for Raceway Cutout Opening	\$ 17.00	\$119.00
39	2	QSCS1923BBF	Skipped Option 23" d, B/B/F Pedestal, Worksurface Supporting	\$ 565.00	\$1,130.00
40	2	QSCS1923FF	Skipped Option WSTD Key Random (STD) 23" d, F/F Pedestal, Worksurface Supporting	\$ 565.00	\$1,130.00
41	2	QSCWCC3624P	Skipped Option WSTD Key Random (STD) 36"w x 24"d, Curved Corner Worksurface with 3mm PVC Edg Trim 1" Thick	^{ge} \$ 511.00	\$1,022.00
			LP Thermally Fused Laminates 1" Thickness Skipped Option Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
42	2	QSCWS2436P	36"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 1 Scoop	\$ 167.00	\$334.00
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option		
			Skipped Option		
			Skipped Option		
43	2	QSCWS2460P	60"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops	\$ 339.00	\$678.00
			LP Thermally Fused Laminates 1" Thickness		
			Skinned Ontion		
			Skinned Ontion		
			Skipped Option		

ALIAS SUBTOTAL: \$ 13,400.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			CMQS545 4-Pack		
CQS 44	3	QSCE8CP17	17" Mesh Jumper	\$ 120.00	\$360.00
45	1	QSCE8FR1	72" Long, Reversible Floor Power Entry, Front Fed, 72" Long, Floor Power Entry, Side Fed, Snaps into Side of Power Distribution Housing	\$ 347.00	\$347.00
46	2	QSCE8RD1	Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$66.00
47	2	QSCE8RD2	Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$66.00
48	2	QSCE8RDA	Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$66.00
49	2	QSCE8RDB	Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$66.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
50	8	QSCHC15L	15" Left Cantilever, Mounting Bracket Included	\$ 50.00	\$400.00
			Skipped Option		
51	8	QSCHC15R	15" Right Cantilever, Mounting Bracket Included	\$ 50.00	\$400.00
			Skipped Option		
52	2	QSCHCB2	Corner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$44.00
			Skipped Option		
53	8	QSCHFB1	Flat Bracket (Available in Black Only)	\$ 21.00	\$168.00
54	4	QSCHP54-2	54"h, 2-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 142.00	\$568.00
			Skipped Option		
55	4	QSCHP54-3	54"h, 3-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 126.00	\$504.00
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
56	1	QSCHP54-4	54"h, 4-Way, Universal Corner Post (With All Clips), No Post Trims, No Post Base Cap	\$ 106.00	\$106.00
			Skipped Option		
57	8	QSCMET54	54"h, End of Run Trim Insert for Panel	\$ 25.00	\$200.00
			Skipped Option		
58	8	QSCMFM5424N0	54"h x 24"w, Monolithic Fabric Panel, Non-Powered, Race way Cover No Punch (2)	\$ 381.00	\$3,048.00
			Skipped Option		
			Skipped Option 01 Grade 1 Textiles - Outside Position 1		
			Skipped Option		
			01 Grade 1 Textiles - Inside Position 1		
			Skipped Option		
59	12	QSCMFM5436N0	54"h x 36"w, Monolithic Fabric Panel, Non-Powered, Race way Cover No Punch (2)	\$ 480.00	\$5,760.00
			Skipped Option		
			01 Grade 1 Textiles - Outside Position 1 Skipped Option		
			01 Grade 1 Textiles - Inside Position 1		
			Skipped Option		
60	2	QSCMFM5436P2	54"h x 36"w, Monolithic Fabric Panel, Power Harness, Raceway Cover With Punch (2)	\$ 696.00	\$1,392.00
			Skipped Option		



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			01	Grade 1 Textiles - Outside Position 1		
				Skipped Option		
			01	Grade 1 Textiles - Inside Position 1		
				Skipped Option		
61	2	QSCMFM5460P2		"w, Monolithic Fabric Panel, Power Harness, Cover With Punch (2)	\$ 902.00	\$1,804.00
			 01	Skipped Option Grade 1 Textiles - Outside Position 1		
				Skipped Option		
			01	Grade 1 Textiles - Inside Position 1		
				Skipped Option		
62	15	QSCMRCB01	Cutout C	over for Raceway Cutout Opening	\$ 17.00	\$255.00
				Skipped Option		
63	4	QSCS1923BBF	23" d, B/E	B/F Pedestal, Worksurface Supporting	\$ 565.00	\$2,260.00
			 WSTD	Skipped Option		
			WSID	Key Random (STD)		
64	4	QSCS1923FF	23" d, F/F	Pedestal, Worksurface Supporting	\$ 565.00	\$2,260.00
			 WSTD	Skipped Option Key Random (STD)		
			WOID	roy random (OTD)		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
65	4	QSCWCC3624P	36"w x 24"d, Curved Corner Worksurface with 3mm PVC Edge Trim 1" Thick	\$ 511.00	\$2,044.00
			LP Thermally Fused Laminates 1" Thickness Skipped Option Skipped Option Skipped Option		
66	4	QSCWS2436P	36"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 1 Scoop	\$ 167.00	\$668.00
			LP Thermally Fused Laminates 1" Thickness Skipped Option Skipped Option Skipped Option		
67	4	QSCWS2460P	60"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops	\$ 339.00	\$1,356.00
			LP Thermally Fused Laminates 1" Thickness Skipped Option Skipped Option Skipped Option		

ALIAS SUBTOTAL: \$ 24,208.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			CMQS545 6-Pack		_
CQS 68	5	QSCE8CP17	17" Mesh Jumper	\$ 120.00	\$600.00
69	1	QSCE8FR1	72" Long, Reversible Floor Power Entry, Front Fed, 72" Long, Floor Power Entry, Side Fed, Snaps into Side of Power Distribution Housing	\$ 347.00	\$347.00
70	3	QSCE8RD1	Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$99.00
71	3	QSCE8RD2	Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$99.00
72	3	QSCE8RDA	Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$99.00
73	3	QSCE8RDB	Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$99.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
74	12	QSCHC15L	15" Left Cantilever, Mounting Bracket Included	\$ 50.00	\$600.00
			Skipped Option		
75	12	QSCHC15R	15" Right Cantilever, Mounting Bracket Included	\$ 50.00	\$600.00
			Skipped Option		
76	3	QSCHCB2	Corner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$66.00
			Skipped Option		
77	12	QSCHFB1	Flat Bracket (Available in Black Only)	\$ 21.00	\$252.00
78	4	QSCHP54-2	54"h, 2-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 142.00	\$568.00
			Skipped Option		
79	6	QSCHP54-3	54"h, 3-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 126.00	\$756.00
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
80	2	QSCHP54-4	54"h, 4-Way, Universal Corner Post (With All Clips), No Post Trims, No Post Base Cap	\$ 106.00	\$212.00
			Skipped Option		
81	12	QSCMET54	54"h, End of Run Trim Insert for Panel	\$ 25.00	\$300.00
			Skipped Option		
82	12	QSCMFM5424N0	54"h x 24"w, Monolithic Fabric Panel, Non-Powered, Race way Cover No Punch (2)	\$ 381.00	\$4,572.00
			Skipped Option		
			Skipped Option 01 Grade 1 Textiles - Outside Position 1		
			Skipped Option		
			01 Grade 1 Textiles - Inside Position 1		
			Skipped Option		
83	16	QSCMFM5436N0	54"h x 36"w, Monolithic Fabric Panel, Non-Powered, Race way Cover No Punch (2)	\$ 480.00	\$7,680.00
			Skipped Option		
			Skipped Option 01 Grade 1 Textiles - Outside Position 1		
			Skipped Option		
			01 Grade 1 Textiles - Inside Position 1		
			Skipped Option		
84	3	QSCMFM5436P2	54"h x 36"w, Monolithic Fabric Panel, Power Harness, Raceway Cover With Punch (2)	\$ 696.00	\$2,088.00
			Skipped Option		



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			01	Grade 1 Textiles - Outside Position 1		_
				Skipped Option		
			01	Grade 1 Textiles - Inside Position 1		
				Skipped Option		
85	3	QSCMFM5460P2		"w, Monolithic Fabric Panel, Power Harness, Cover With Punch (2)	\$ 902.00	\$2,706.00
				Skipped Option		
			01	Grade 1 Textiles - Outside Position 1		
				Skipped Option		
			01	Grade 1 Textiles - Inside Position 1		
			•••	Skipped Option		
86	23	QSCMRCB01	Cutout C	over for Raceway Cutout Opening	\$ 17.00	\$391.00
				Skipped Option		
87	6	QSCS1923BBF	23" d, B/E	B/F Pedestal, Worksurface Supporting	\$ 565.00	\$3,390.00
			 WSTD	Skipped Option Key Random (STD)		
88	6	QSCS1923FF	23" d, F/F	Pedestal, Worksurface Supporting	\$ 565.00	\$3,390.00
			 WSTD	Skipped Option Key Random (STD)		



QTY.	PRODUCT CODE		LIST	EXTENDED
6	QSCWCC3624P	36"w x 24"d, Curved Corner Worksurface with 3mm PVC Edge Trim 1" Thick	\$ 511.00	\$3,066.00
		LP Thermally Fused Laminates 1" Thickness		
		Skipped Option		
		Skipped Option		
6	QSCWS2436P	36"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 1 Scoop	\$ 167.00	\$1,002.00
		LP Thermally Fused Laminates 1" Thickness Skipped Option		
		Skipped Option		
6	QSCWS2460P	60"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops	\$ 339.00	\$2,034.00
		LP Thermally Fused Laminates 1" Thickness		
		Skipped Option		
		ALIAS SUBTOTAL: \$ 35,016.00		
	6	6 QSCWS2436P	6 QSCWCC3624P 36"w x 24"d, Curved Corner Worksurface with 3mm PVC Edge Trim 1" Thick LP Thermally Fused Laminates 1" Thickness Skipped Option Skipped Option Skipped Option 6 QSCWS2436P 36"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 1 Scoop LP Thermally Fused Laminates 1" Thickness Skipped Option	36"w x 24"d, Curved Corner Worksurface with 3mm PVC Edge \$ 511.00 LP Thermally Fused Laminates 1" Thickness Skipped Option Skipped Option Skipped Option 6 QSCWS2436P 36"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 1 Scoop \$ 167.00 LP Thermally Fused Laminates 1" Thickness Skipped Option

TOTAL EXTENDED LIST:

\$80,517.00